DELIII URBAN SIIELTER IMPROVEMENT BOARD OFFICE OF EXECUTIVE ENGINEER, C-10 INDERLOK, DELIII-110035

No. NIQ No. 06 /EEC-10/DUSIB/2021-22/D- 766

Dated-17.03.2022

NOTICE INVITING SPOT QUOTATIONS

Executive Engineer, C-10, DUSIB on behalf of Delhi Urban Shelter Improvement Board invites quotations from intending agencies who are registered with CPWD, Railways, MES, Civil Wing of BSNL, M.C.D, DDA, NDMC, Delhi Jal Board, Irrigation & Flood Deptt. Delhi, Delhi State PWD etc. in appropriate class on percentage rate basis in sealed cover for the following works:

Name of Work: GIA to DUSIB for Existing Infrastructures Sub Head- Emergent Repairs of Visor and Enterance of Slum Tenament No. A-18 Idgah Road, in AC-22 Ballimaran	S. No.	Name of Work	Estimated Cost	Time of Completion
G. L. Sales proprietor of firm GS	1	Infrastructures Sub Head- Emergent Repairs of Visor and Enterance of Slum Tenament No. A-18 Idgah Road,		-

The quotations along with copies of PAN Card, Aadhar Card of the proprietor of firm, GST registration and valid registration certificate of the department registered with should be submitted in the office of the Executive Engineer, C-10, DUSIB, Inder Lok, Delhi-110035 latest by 2.00 PM on which shall be opened on the same day at 3.00 PM in the presence of intending quotationers or their representatives. The intending quotationer may collect the schedule of quantities and other information from the office of the Executive Engineer, C-10, DUSIB. The terms & Conditions of the NIQ are as follows:

- 1. The work shall be carried out as per directions of the Engineer-in-charge.
- 2. Payment shall be made only after successful completion of the function to the entire satisfaction of the Competent Authority/ Engineer in charge.
- 3. No T&P shall be issue by the department.
- 4. No extra charges shall be paid except for the rates quoted.
- 5. Conditional quotations shall be liable to rejection summarily.
- 6. Necessary statutory deductions will be made as per prevailing law.
- 7. Debarred/ Blacklisted agencies shall not be permitted to participate in the NIQ process.
- 8. NIQ will be issued to the intended participants only after verification of documents related to
- 9. The participants should submit Demand Draft or Rs. 5000/- as security deposit in favour of Executive Engineer, C-10, DUSIB along with other requisite document before issue of NIQ.

EXECUTIVE ENGINEER, C-10 D.U.S.I.B. (GNCTD)

NOTICE BOARD

Copy to-

- 1. SE, Circle-IV DUSIB for kind information please.
- 2. ACA-IV for kind information please.
- 3. All AE's/C-10
- 4. AAO/C-10
- 5. HC/C-10
- 6. Office Copy

Abstract of Cost-Original Estimate

State

C-10 C-10

II

Branch Name of Work:

GIA to DUSIB for Existing Infrastructures

Sub Head- Emergent Repairs of Visor and Enterance of Slum Tenament No. A-18 Idgah Road, in AC-22

Ballimaran

ITEM No	CODE	SUB-HEADS AND ITEM OF WORK	QUANTITY	RATE (Rs)	UNIT	AMOUNT (Rs)
1	15.3	Demolishing R.C.C. work manually/ by mechanical means including stacking of steel bars and disposal of unserviceable material within 50 metres lead as per direction of Engineer - in- charge.	1.17	1,454.55	cum	1,701.8	2 S
2	15.5	Extra for cutting reinforcement bars manually/ by mechanical means in R.C.C. or R.B. work (Payment shall be made on the cross sectional area of R.C.C. or R.B. work) as per direction of Engineer- in-charge.	1.94	500.80	sqm	971.55	S
3	15.7	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge.					
3.1	15.7.4	In cement mortar	0.9	842.75	cum	758.48	SF
4	15.56	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	15	22.40	sqm	336.00	SF
5	15.60	Disposal of building rubbish / malba / similar unserviceable, dismantled or waste materials by mechanical means, including loading, transporting, unloading to approved municipal dumping ground or as approved by Engineer-in-charge, beyond 50 m initial lead, for all leads including all lifts involved.	4.41	120.55	cum	531.63	SR
6	1.2	Carriage of material by Manual Labour including loading, unloading and stacking for lead less than 0.50 KM					
6.1	1.2.1	Lime, moorum, building rubbish - Lead 50 m	4.41	92.74	cum	408.98	SR
7	1.500	Carriage of Material by manual labour: for additional leads of 50m each	22	20.19	Cum	444.18	
8	6.4	Brick work with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level in all shapes and sizes in:					
8.1	6.4.2	Cement mortar 1:6 (1 cement : 6 coarse sand)	0.9	5,582.85	cum	5,024.57	QD
9	10.1	Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete.	175.95	58.45	kg	10,284.28	

/A12 A18 Idgah Quarters

TEM No		SUB-HEADS AND ITEM OF WORK	QUANTITY	RATE (Rs)	UNIT		٦
0	12.23	Providing sand stone slab for roofing and laying them in cement mortar 1:4 (1 cement: 4 coarse sand) over wooden karries or R.C.C. battens or structural steel sections (Karries or battens or structural steel sections to be paid separately), including pointing the ceiling joints with cement mortar 1:3 (1 cement: 3 fine sand) complete:		TO LE (KS)	UNII	AMOUNT (Rs	1
0.1	12.23.1	Red sand stone slab					
0.1.1	12.23.1.1	40 to 50 mm thick	7.0	5(0.05			
1	4.2	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets, sunken floor etc., up to floor five level, excluding the cost of centering, shuttering and finishing:	7.8	560.05	sqm	4.368.39	
1.1	422	1:1½:3 (1 cement : 1½ coarse sand (zone-III) : 3 graded stone aggregate 20 mm nominal size).	0.62	6,990.40	cum	4,334.05	
2	13.1	12 mm cement plaster of mix :					
2.1	13.1.2	1:6 (1 cement: 6 fine sand)	20	160.35	sqm	3,207.00	5
3	13.2	15 mm cement plaster on the rough side of single or half brick wall of mix:					
3.1	13.2.2	1:6 (1 cement: 6 fine sand)	20	185.20	sqm	3,704.00	
4	11.3	Cement concrete flooring 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate) finished with a floating coat of neat cement, including cement slurry, but excluding the cost of nosing of steps etc. complete.					
4.1	11.3.1	40 mm thick with 20 mm nominal size stone aggregate	13	362.60	sqm	4,713.80	5
5	13.62	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade:					
15.1	13.62.1	Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture	20	112.30	sqm	2,246.00	S
16	13.86	6 mm plaster on cement concrete or reinforced cement concrete work with white cement based polymer modified self curing mortar of approved make as per the direction of Engineer-In-Charge.	7.8	146.45	sqm	1,142.31	S
17	14.64	Finishing walls with water proofing cement paint of required shade:					
17.1	14.64.1	Old work (one or more coats applied @ 2.20 kg/10 sqm) over priming coat of primer applied @ 0.80 litrs/10 sqm complete including cost of Priming coat.	20	55.70	sqm	1,114.00	S
		Total				45,291.04	
		Add Cost Index @21.46% (On SR&DR Total 45,291.04)				9,719.46	
		Total				55,010.50	
		Deduct As per Orders of GNCTD @9.5% (On SR&DR Total 45,291.04+9,719.46)				- 5,226.00	

/A12 A18 Idgah Quarters Page 2 of 3

ITEM No	CODE	SUB-HEADS AND ITEM OF WORK	QUANTITY	RATE (Rs)	UNIT	AMOUNT (Rs)
		Grand Total				49,784.50
1		Say				49,784.00

(Rupees Fourty Nine Thousand Seven Hundred Eighty Four only)

Executive Engineer C-VO

Assistant Engineer

Junior Engineer